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200 7.0 200 229 230.5 39
140
250 1.5 250 280 281.5 52
300 8.0 300 331 332.5 66
+3 150
350 8.5 Z0 350 +1.5 382 +1.0 383.5 [ =1.0 +5 82
400 9.0 400 434 435.5 98
160
450 9.5 450 485 486.5 118
500 10.0 500 541 542.5 140
600 12.0 600 645 646. 5 200 202
700 14.0 700 749 750.5 274
800 16.0 800 856 857.5 359
900 18.0 900 960 961.5 454
1000 20.0 J_r g + 30 1000 1068 | =1.5 | 1069.5 | =1.5 563
4000 ~ 10 220
1100 22.0 1100 1172 1173.5 682
1200 24.0 1200 1276 1271.5 811
1350 27.0 1350 1432 1433.5 1030
1500 30.0 1500 | +3.0 1588 1589.5 250 +10 1280
1650 33.0 1650 1748 1749.5 1570
300
1800 36.0 1800 1904 1905. 5 1870
2000 40.0 2000 2112 2113.5 2320
330
2200 44.0 ‘7 2200 2320 2321.5 2810
o +2.0 +2.0
2400 48.0 2400 2532 2533.5 3400
400
2600 52.0 2600 2740 2741.5 3990
2800 56.0 2800 2948 2949.5 4660
430
3000 60.0 3000 3156 3157.5 5350
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